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F.5  Analiza Cir El c.a. I 
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Q.3 From ( ) ( )v t tR = 12 2 2cos V  
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Q.5  
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F.6 Analiza Cir El c.a. II  

Q.1 Circuit diagram 
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Q.3 Power 
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Electrical system
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Maximum power transfer 
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In general, maximum power transfer occurs when the load impedance is equal to the 

conjugate of the Thevenin's or Norton's impedance.  When this occurs, the total 

impedance is purely resistive and the current and voltage in the circuit are in phase: 
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Thus, the maximum power transferable is 
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Q.5  
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Since the Q factor is large, the circuit is bandpass in nature with 

3 159 1
1

200
dB MHz cutoff frequencies ≈ ±

⎛

⎝
⎜

⎞

⎠
⎟.  



Adascalitei, Probleme Analiza Cir El c.a. 

 13 
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